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[Organic Chemistry: Standard|

Answer problems (l') through (9).

Answer the problems about the 3 synthetic schemes shown below. The reaction solvents are omitted.
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(1) Show.the structure of compound A in Step |.

(2) Show the mechanism of the reaction in Step If using the curved arrow formalism and indicate the
structure of the reaction intermediates.

(3) Show the mechanism of the reaction in Step 1ll using the curved arrow formalism. This reaction is
promoted by a Brgnsted acid catalyst.
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(4) In Step IV, 2 equivalents of NaN[Si{CHzs)s]2 are used to perform the reaction.: Briefly describe the
reason why 2 equivalents of NaN[Si{(CH3)s)2 are used.

(5) Select the most appropriate réagents from (a) - (e) for reagent B in Step V.

(a) BHa THF, HsO (b) LiAIH, (c) Pd/C, H»
(d) Pd/CaCOs/PH(OCOCHg),, Ha () Na, NHs |

(6‘) In Step VI, a cyclization reaction proceeds accompanying formation of 1 equivalent of styrene,
Provide the structure of compound C.
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(7) In Step VI, first the four membered ring of the starting material is opened upon heating, and next

the desired reaction proceeds via intermediate D. Provide the structure of intermediate D.

(8) In Step VI, the carbonyl moiety is attacked by vinyllithium to form intermediate E
stereoselectively. Briefly describe the reason for the stereoselectivity.

(9) Provide the structure of compound F, which is formed in Step IX.



